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NI < 2t 3,528,775 3,425,719 103,056
= 86.808
Al 3,441,967
A= &= 912,175 815,839 96,336
= 86.808
Al 825,367
KM= &8 760,446 707,138 53,308
= 86.808
Al 673,638
NI&E2el 421,558 284,667 136,891
101 @124l 32,241 23,175 9,066
4 JI2ZtHZ22 s+ 32,241 23,175 9,066
OX&AHILA 23 LHEH 23,841
oQlAHl S 68,7203 x 1 x247 16,974
odi & FX=sE 68,7203 x60 4,124
o230z S 4AHEE 21,098,000 x13% 2,743
OMNAXLASH MDME 2F A8 (200 *
2g) 8,400,000& 8,400
201 L2l 170,300 152,500 17,800
01 At 2t 2l 51,800 48,500 3,300
OgBt+=EH| 46,800
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15,000, 000& 15,000
oX&A & M+ B s 2
2,500,000& 2,500
cTMXItE,=AE DAM P& 7,800,000 7,800
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1,500, 000& 1,500
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2,000,000& 2,000
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203 € R =&lY| 3,000 3,000 0
03 AIHZ=X SR =AH| 3,000 3,000 0
OS24 22N &= dR2FA 1,000,000& 1,000
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ONA+LMEE s+ dRE=X 1,000,000& 1,000
301 et X Z 7,000 7,000 0
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7,000,000 7,000
303 A2 10,000 10,000 0
01 ZAZ 10,000 10,000 0
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306 EH= 11,129 11,496 N 367
01 &%= 11,129 11,496 N 367
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OIME=EDItA ClAHHl S 30,000, 000& 30,000
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Al 21,000
201 L2l 176,102 173,102 3,000
= 75,546
Al 100,556
01 At 22l 169,052 166,052 3,000
OME=B8IA S 146,372,000 146,372
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Al 83,826
OHLUARE 7¢ 15,512,000& 15,512
= 8,582
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oZetE22ZH =2&J |FXNE=  1,000,000& 1,000
COIUBERNEZ LERHRSI 300,000 300
OsgTHIEZ ) H RIAES 2,000,000& 2,000
202 O4dl 2,262 3,262 21,000
= 2,262
01 =2 LHA YI 2,262 3,262 A 1,000
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01 At 2t 2l 17,340 17,340 0
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02 =224l 19,800 19,800 0
OMYEDXNMN SELS 15,000,000& 15,000
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4,800,000& 4,800
303 Z& 3 5,000 5,000 0
01 243 5,000 5,000 0
OMEAMA=Y H=x= T4 5,000,000& 5,000
MRS (HMR) ,500,000 ,500, 000 0
PN ,500,000 ,500, 000 0
MRS ,500,000 ,500,000 0
802 BHEt = JI Ef ,500,000 ,500,000 0
01 2 DEBX=tte= ,500,000 ,500, 000 0
O=21ExztE= 1,500,000, 000& ,500,000
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JlE&l 116,600 109,880 6,720

201 £B-2d| 11,000 11,000 0

01 At 22l 11,000 11,000 0
OBt~ 7,000
oSAEXN . EH AMEPES #& 5,000,000 5,000
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202 4l 100,800 94,080 6,720
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